
KONICHEK                   COORDINATE SYSTEM TEST REVIEW     LaCrosse Roads
MULTIPLE CHOICE- THESE ARE THE QUESTIONS FOR THE MULTIPLE CHOICE
1. A person is at zero degrees latitude. Their location on earth would best be described as( equator)
2. The number of time zones La Crosse Wi is from the IDL is (6)
3. The reference point for longitude is: Prime meridian
4.Diurnal motion is best described by: causes night and day
5. Which of the following would not happen because of precession?

6. It is 3PM in London England(0 degrees). What time would it be in San Francisco(135W) 6 am
7. Nutation is caused by: GRAVITATIONAL TUG OF THE MOON
8. The north celestial pole is located within a few degrees of this star:  POLARIS
9.The brightest star in the winter sky is located within the constellation:  CANIS MAJOR
10. The reference point for declination is the: CELESTRIAL EQUATOR
11. The seasons of the Earth are a result of: EARTH'S TILT
12. The reference point for right ascension is: VERNAL EQUINOX
13. 12 hours R.A. would be what time of year? FALL
14. A star is 6 fist above the observers horizon. This would be how many degrees? 60
15. The observer is at 34 degrees north, therefore Polaris would be__34̊ ___above the observers horizon

16. If it is 4:00AM in Lax Wi what time would it be in Houston Texas( 96 degree west) 4AM    
17. The instructors opinion of time is: ONLY A BEGINNING AND END
18. The .25 day of the 365.25 days of the year represents: LEAP YEAR
19. Time is based on earth upon: ALL CAN BE USED
20. A star rises at 7:00PM on October 22. At what time would it rise on Halloween?  
31-22=9 DAYSX 4MIN/DAY= 36 MIN...7:00-36 MIN=6:24PM
)

21. The reference point for altitude is: HORIZON
22.The point directly above the observers head is referred to as the ZENITH
23.Extensions of the earth's poles onto the celestial sphere are called: CELESTRIAL POLES
24. In the horizon coordinate system, the amount of the celestial sphere which is observable is; 50%
25,Right ascension is measured in which direction along the celestial equator?  EASTWARD  

26.An asterism is:  SMALLER CONSTELLATION WITH A LARGER
27.The tilt of the earth is_______degrees from the ecliptic 23.5
28. When viewing a star it appears to twinkle because: EARTH'S ATMOSPHERE
29.Which is planet cannot be seen with the naked eye?NEPTUNE,OR URANAS
30. This  planet follows the sun by about 1/2 hour, so it's difficult to make out because of the sun's glare,name it: MERCURY
31. The cycle from new moon to new moon is how many days:29
32.If a planet is seen after twilight it is called an: EVENING OBJECT
33. The apparent backward motion of a planet relative to the stars is:RETROGRADE MOTION   
34.At present time the estimated age of the universe is thought to be: 13.7 BILLION  

35.The passing of the moon in front of the sun is called a: SOLAR ECLIPSE
TIME CALCULATIONS(10)...TIMES HAVE BEEN CHANGED FROM THE TEST TIMES...CAN'T BE TOO EASY !!
1. It is 4:00 am in Paris France(15E). What time would it be in Denver Co(105W) 8PM PRV NIGHT
2. It is 6:00PM in Lax Wi what time would it be in New York(75W) 7PM
3. A person calling their boyfriend at 2AM from Oslo Norway(15E) to La Crosse Wi. What time would it be in La Crosse?5PM PREVIOUS NIGHT
4. It is 3:00PM Tuesday November 28 . Your cruise travels across the IDL moving west. What should you set your watch and calendar to?WED NOV 29 3PM
5. The time at the prime meridian is 6:00 PM. What time would it be at the IDL?

STAR CHART- Using the star chart supply the following information(10) SORRY NO ANSWERS I WANT TO SEE IF YOU CAN DO THIS
1. Altair( aquila)______________R.A._______________Declination

2. Spica( virgo)_______________R.A._______________Declination

3. Regulas(leo)______________R.A._______________Declination

4) R.A.= 12h 50m  : declination=+22 it is __________________

5)R.A.=15h 10m  : declination= -9 it is___________________

6. R.A.=23h 30m  :declination= 24; constellation is___________

7. The intersection of the celestial equator and the ecliptic is referred to as the ________________

USING THE ANELEMA(5)- Using the anelema answer the following questions

SORRY NO ANSWERS I WANT TO SEE IF YOU CAN DO THIS
1. What is the altitude of the apparent sun when the latitude is 45 degrees north(careful)?

2. What is the altitude of the sun at the equator on March 21?

3. What is the date when the sun in La Crosse is the lowest?

4. What is the altitude of the sun on October 22 in La Crosse Wis?
5. The height of the sun in La Crosse Wi at the time of the vernal equinox

TRUE AND FALSE- If  it is true write the word TRUE.If the statement is false CORRECT THE BOLD WORD.(10pts)...CAREFUL
F 1. The majority of the knowledge in astronomy was gained in the SIXTEENTH  century.

T 2. One light year is about 6 TRILLION miles

F 3. RIGHT ASCENSION is measured from the celestial equator

T 4 Astronomy is the study of the UNIVERSE and all the junk in it.

.F 5. An extension of the earth's equator onto the celestial sphere is called the CELESTIAL EQUINOX.

FILL IN THE BLANK- Use the correct word to fill in the blank to complete the statement.( MAKE YOUR OWN WORD BANK FOR THE TEST)
1. The IDL is _______12_____time zones from the prime meridian.

2. A solar day is ___LONGER( EX CRED POSS)__________compared to a sidereal day.

3. The study of the universe and all the junk in it is known as _____ASTRONOMY____
4. ___RIGHT ASCENSION_____Is measured in hours, and from the Vernal Equinox

5. Every _____15______________degrees marks one time zone on the planet.

6. A ___MERIDIAN__________is a line that connects the poles passing through the observer’s zenith.

7. The distance a beam of light can travel in one year is referred to as one__LIGHT YR_
8. The __CELESTRIAL POLE____________are an extension of the earth's poles onto the celestial sphere.

9. The ___ZENITH__________is the point directly above the observer’s head

10. The intersection of the celestial equator and the ecliptic are called the___EQUINOX__________________.


